INTERNATIONAL KANGAROO MATH CONTEST - 2022
Grade 1 and Grade 2 Questions — PreEcolier Level

KY THI TOAN QUOC TE KANGAROO - 2022
pé thi Lé&p 1 va Lép 2 — PreEcolier

Part A: Each correct answer is worth 3 points. Each incorrect answer is
deducted 0.75 point. No point and no penalty for each answer left blank.

Phan A: Véi mdi ciu tra 1oi diang, thi sinh nhan dwoc 3 diém. Véi mdi ciu tra
10i sai, thi sinh bi trir 0,75 diém. Khong tra 1o, thi sinh khong nhan dwoc diém
va ciing khong bi trir diém.

#1. Which box contains the most triangles?
Hinh nao duéi day chtra nhiéu hinh tam giac nhat?
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#2. The picture shows 5 identical bricks.
Trong hinh dudi day 1a 5 vién gach giéng nhau.

How many bricks are touching exactly 3 other bricks?
C6 bao nhiéu vién gach tiép x(c véi dang 3 vién gach khac ?

(A)1 (B) 2 (©)3 (D) 4 (E)5

#3. One sandwich and one juice together cost 12 euro. One sandwich and two juices
together cost 14 euro.

Mot céi sandwich va mot hop nuéc cam cb gia téong cong 1a 12 euro. Mot céi
sandwich va hai hop nuéc cam c6 gia tong cong 1a 14 euro.

How much does one juice cost?
Gia ctia mot hop nudce cam la bao nhiéu?

(A) 1 euro (B) 2 euro (C) 3 euro (D) 4 euro (E) 5 euro
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#4. A monkey has torn a piece from Captain Jack’s map.

Tam ban d6 caa Thuyén trudng Jack da bi xé mat mot manh,

Which is the missing piece?

Manh nao duéi day c6 thé 13 manh da bi xé mat?

(©)
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#5. Phong puts the 4 puzzle pieces shown together to make a square.

Phong ghép 4 manh xép hinh véi nhau dé tao thanh mét hinh vuéng.

Which picture can he make?

Ban 4y ghép dugc hinh nao dudi day?
(A) u (B) . (C)

(D)

(E)

#6. Some ink spilled on a piece of grid paper,

as shown in the picture. ﬂ\'\_]j

Mot tor gidy ké 6 vudng bi muc dé 1én, nhu .C ).
trong hinh v&.

How many squares have ink on them?
C0 bao nhiéu 6 vudng bi dinh myc?

(A) 16 (B) 17 (C) 18 (D) 19 (E) 20
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Part B: Each correct answer is worth 4 points. Each incorrect answer is deducted 1
point. No point and no penalty for each answer left blank.

Phan B: Vi mdi ciu tra 1o ding, thi sinh nhan dwoc 4 diém. Vi mdi cau tra 1o sai,
thi sinh bi trir 1 diém. Khong tra 1oi, thi sinh khong nhan dwoc diém va ciing khong
bi trir diém.

#7. Kanga wrote down a number and then covered each digit with a shape. Different
digits were covered by different shapes, and the same digits were covered by the
same shape.

Kanga viét ra mot sé, roi che mdi chir s ctua né di boi mot hinh. Nhiing chix sé khac
nhau dugc che bai cac hinh khac nhau, va nhitng chit s6 gidng nhau duogc che bai

cac hinh giéng nhau.

Which number could be written under these shapes?

S6 nao trong cac so sau ¢ thé 1a s6 ma ban ay da viét ra?
(A) 34426 (B) 34526 (C) 34423 (D) 34424 (E) 32446

#8. One animal sleeps in each of the baskets. The koala and the fox are sleeping in
baskets with the same pattern and shape. The kangaroo and the ostrich have the same
pattern on their baskets.

Trong mdi gio c6 mot con vat dang nga. GAu tdi va céo & trong hai gié c6 cing hoa
van va hinh dang. Chuét tai va da diéu ¢ trong hai gio c6 cung hoa van.

Basket 1 Basket 2 Basket 3 Basket 4 Basket 5
Gid 1 Gid 2 Gid 3 Gid 4 Gid 5
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Which basket is the puppy sleeping in?
Hoi cho con ¢ trong gi¢ nao?

(A) Basket 1 (B) Basket 2 (C) Basket 3 (D) Basket 4 (E) Basket 5
(A) Gio 1 (B) Gio 2 (C) Gio 3 (D) Gio 4 (E)Gio 5

#9. Kanga wants to reach the koala without going through any of the coloured
squares.

Ban Chuot Tui mudn di dén chd ban Gau Tui ma khéng phai di qua cac 6 dugc td

mau.

I8y

Which route could she take?

Ban 4y c0 thé chon cach di nao dudi day?
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#10. In one of the pictures below, a shape is used that cannot be seen in the others.
In which picture is that shape used?

Mot trong cac tranh ghép dudi day st dung mot hinh khéng xuat hién trong tat ca

cac tranh con lai. D6 1a buc tranh nao?
(A) g (B) /ﬁ ()
(D) E (E) i ‘

#11. Which of the following pictures will we see when we use ’
the stamp shown?

AN

Con dau & bén phai khi dong 1én gidy s& duoc hinh nao dudi
day?
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#12. Khanh builds a path around each square using tiles like the one
shown . @ 1

Khanh dung cdc manh ghép nhu hinh bén phai dé vién quanh céc
hinh vuong, nhu trong hinh dudi day.

How many tiles does she need to build a path around the square with side 5?
Ban 4y can bao nhiéu manh ghép dé vién quanh hinh vudng c6 canh bang 5?
(A) 10 (B) 11 (C) 12 (D) 14 (E) 16

Part C: Each correct answer is worth 5 points. Each incorrect answer is deducted
1.25 points. No point and no penalty for each answer left blank.

Phén C: Véi mbi ciu tra 1oi ding, thi sinh nhan dwoc 5 diém. Vi mdi ciu tra 1o sai,
thi sinh bi trir 1,25 diém. Khong tri 1oi, thi sinh khong nhan dwoc diém va ciing khong
bi trir diém.

#13. The sum of the five numbers in each house
Is 20. Some numbers have been painted over.

Tong cua 5 sb trén mdi ngdi nha bang 20. Mét
s6 s6 da bi son d¢ lén.

What number is hidden under the question mark?
S6 & vi tri diu hoi cham 14 s6 bao nhiéu?

(A) 3 (B) 4 )7 (D)9 (E) 14
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#14. Some lawns are shown below. Which lawn is the smallest?

Trong cac bai co dudi day, bai co nao 1a bé nhat?

(A) > (B) @ (©)
o
¢ ® < °
(D) —® (E)

#15. Dino moves from the entrance to the exit by going through rooms. He can only
go through each room once.

Ban Khung Long di qua mdt mé cung tir cira vao dén cira ra. Ban ay chi duoc di qua
mdi phong nhiéu nhat mot lan.

Dino adds up the numbers as he passes through each room. What is the highest total
Dino can make?

Khung Long tinh tong céc con sb trong cac phong ban ay di di qua. Hoi tong 1on
nhét c6 thé 1a bao nhiéu?

(A) 27 (B) 29 (C) 32 (D) 34 (E) 36
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#16. In the picture, each shape stands for a different number.

Trong hinh v&, cac hinh giéng nhau thay thé cho céc sé giéng nhau, cac hinh khac
nhau thay thé cho cac sé khac nhau.

%
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A O O
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Which number should be written in place of the question mark?
S6 ndo can dugc dién vao vi tri dau hoi cham?
(A) 10 (B) 12 (C) 14 (D) 16 (E) 18

#17. Kangy’s car can only turn left. It can never turn right. Which of the following
five routes can Kangy take?

Xe ctia Kangy bi hong nén chi cd thé ré trai, khdng thé ré phai. Ban 4y c6 thé lai theo
duong nao sau day?
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(D)® (E)
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#18. There are five numbered cards on the table as shown.

C6 5 thé s & trén ban nhu hinh bén duéi.

3J4f1]5]2

You may swap two cards at each step. What is the smallest number of steps needed
to put the cards into increasing order?

Tai mdi budc, ban cd thé d6i chd 2 thé bat ky. Can it nhat bao nhiéu budc dé s trén
cac thé duoc sap xép theo thu ty ting dan?

(A)1 (B) 2 (€3 (D) 4 (E)5

THE END/ HET
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